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Switch-A#show controllers ethernet-controller GigabitEthernet 1/0/4

Transmit GigabitEthernetl/0/4 Receive
1906 Total bytes 64 Total bytes

1 Unicast frames 1 Unicast frames
64 Unicast bytes 64 Unicast bytes

8 Multicast frames 0 Multicast frames

1842 Multicast bytes 0 Multicast bytes

0 Broadcast frames 0 Broadcast frames

0 Broadcast bytes 0 Broadcast bytes

0 System FCS error frames 0 IpgViolation frames
0 MacUnderrun frames 0 MacOverrun frames

0 Pause frames 0 Pause frames

0 Cos 0 Pause frames 0 Cos 0 Pause frames
0 Cos 1 Pause frames 0 Cos 1 Pause frames
0 Cos 2 Pause frames 0 Cos 2 Pause frames
0 Cos 3 Pause frames 0 Cos 3 Pause frames
0 Cos 4 Pause frames 0 Cos 4 Pause frames
0 Cos 5 Pause frames 0 Cos 5 Pause frames
0 Cos 6 Pause frames 0 Cos 6 Pause frames
0 Cos 7 Pause frames 0 Cos 7 Pause frames
0 Oam frames 0 OamProcessed frames
0 Oam frames 0 OamDropped frames

5 Minimum size frames 1 Minimum size frames
0 65 to 127 byte frames 0 65 to 127 byte frames
0 128 to 255 byte frames 0 128 to 255 byte frames



4 256 to 511 byte frames 0 256 to 511 byte frames
0 512 to 1023 byte frames 0 512 to 1023 byte frames
0 1024 to 1518 byte frames 0 1024 to 1518 byte frames
0 1519 to 2047 byte frames 0 1519 to 2047 byte frames
0 2048 to 4095 byte frames 0 2048 to 4095 byte frames
0 4096 to 8191 byte frames 0 4096 to 8191 byte frames
0 8192 to 16383 byte frames 0 8192 to 16383 byte frames
0 16384 to 32767 byte frame 0 16384 to 32767 byte frame
0 > 32768 byte frames 0 > 32768 byte frames
0 Late collision frames 0 SymbolErr frames
0 Excess Defer frames 0 Collision fragments
0 Good (1 coll) frames 0 ValidUnderSize frames
0 Good (>1 coll) frames 0 InvalidOverSize frames
0 Deferred frames 0 ValidOverSize frames
0 Gold frames dropped 0 FcsErr frames
0 Gold frames truncated
0 Gold frames successful
0 1 collision frames
0 2 collision frames
0 3 collision frames
0 4 collision frames
0 5 collision frames
0 6 collision frames
0 7 collision frames
0 8 collision frames
0 9 collision frames
0 10 collision frames
0 11 collision frames
0 12 collision frames
0 13 collision frames
0 14 collision frames
0 15 collision frames
0 Excess collision frames
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Switch-A#show controllers ethernet-controller GigabitEthernet 1/0/4

Transmit GigabitEthernetl/0/4

5 Minimum size frames

0 65 to 127 byte frames
0 128 to 255 byte frames
4 256 to 511 byte frames
0 512 to 1023 byte frames

0 1024 to 1518 byte frames<<<<<
0 1519 to 2047 byte frames

0 2048 to 4095 byte frames

0 4096 to 8191 byte frames

0 8192 to 16383 byte frames

0 16384 to 32767 byte frame

0 > 32768 byte frames

Receive

Minimum size frames

65 to 127 byte frames

128 to 255 byte frames
256 to 511 byte frames
512 to 1023 byte frames
1024 to 1518 byte frames <<<<<
1519 to 2047 byte frames
2048 to 4095 byte frames
4096 to 8191 byte frames
8192 to 16383 byte frames
16384 to 32767 byte frame
> 32768 byte frames

ping EIAEE 37|7} 1,200HI0|EQ1 1,0007H2] ICMP THZ! 2 A& 6104 ME|MH, Ol 1024-

1518HI0|E =B 7IRE{E =&ILIC}.

Switch-A#ping 192.168.8.2 repeat 1000 timeout 0 size 1200

Type escape sequence to abort.

Sending 1000, 1200-byte ICMP Echos to 192.168.8.2, timeout is O seconds:

Success rate is 0 percent (0/1000), round-trip min/avg/max = 1/1/1 ms

Switch-A#
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Switch-A#show controllers ethernet-controller GigabitEthernet 1/0/4

Transmit GigabitEthernetl/0/4

Minimum size frames

65 to 127 byte frames

128 to 255 byte frames
256 to 511 byte frames
512 to 1023 byte frames
1024 to 1518 byte frames <<<<<
1519 to 2047 byte frames
2048 to 4095 byte frames
4096 to 8191 byte frames
8192 to 16383 byte frames
16384 to 32767 byte frame
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Receive

Minimum size frames

65 to 127 byte frames

128 to 255 byte frames
256 to 511 byte frames
512 to 1023 byte frames
1024 to 1518 byte frames <<<<<
1519 to 2047 byte frames
2048 to 4095 byte frames
4096 to 8191 byte frames
8192 to 16383 byte frames
16384 to 32767 byte frame



0 > 32768 byte frames 0 > 32768 byte frames
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Switch-A#show platform hardware fed switch active qos dscp-cos counters interface GigabitEthernet 1/0/4

Frames Bytes
Ingress DSCPO 374959
Ingress DSCP1 0O
Ingress DSCP2 0O
Ingress DSCP3 0
Ingress DSCP4 0

o OO oo

Switch-A#
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Switch-A# show platform hardware fed switch 1 qos dscp-cos counters interface GigabitEthernet 1/0/4

Ingress DSCPO 374959 0
Ingress DSCP1 0 0 <<<x<
Ingress DSCP2 0 0 <<<x<

13 CH2 DSCP 2 O € AF83610d ping EIAEE ALt

Switch-B# ping 192.168.8.1 repeat 1000 timeout 0 dscp 2
Type escape sequence to abort.
Sending 1000, 100-byte ICMP Echos to 192.168.8.1, timeout is 0O seconds:

Success rate is 0 percent (0/1000)

EHIAE £ DSCP 201| g 7t2E{7} 1000 &7tsto 8E 0| =AIE|X| §IHHEE 2184 QIE{H

Switch-A# show platform hardware fed switch 1 qos dscp-cos counters interface GigabitEthernet 1/0/4

Ingress DSCPO 374959 0

Ingress DSCP1 O 0

Ingress DSCP2 1000 0 <<<<
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